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General Instructions :
Read the following instructions very carefully and strictly follow them :

(i) Question paper comprises four Sections — A, B, C and D. There are
35 questions in the question paper. All questions are compulsory.

(it)  Section A — Question no. 1 to 20 are very short answer type questions, carrying
1 mark each.

(iti) Section B — Question no. 21 to 28 are short answer type questions, carrying
3 marks each. Answer to each question should not exceed 80 words.

(iv) Section C - Question no. 29 to 34 are long answer type questions, carrying
5 marks each. Answer to each question should not exceed 120 words.

(v)  Section D - Question no. 35 is map based, carrying 6 marks with two parts,
35(a) from History (2 marks) and 35(b) from Geography (4 marks).

(vi) Answers should be brief and to the point; also the above word limit be adhered
to as far as possible.

(vii) There is no overall choice in the question paper. However, an internal choice
has been provided in few questions. Only one of the choices in such questions
have to be attempted.

(viit) Attach map along with your answer-book.

(ix) In addition to this, separate instructions are given with each section and
question, wherever necessary.

SECTION A
1. Choose the correctly matched option from the following : 1
Column I (Category of Person) Column II (Development Goal)
(A) Farmers who depend only ¥ —  More days of work and better
on rain for growing crops wages
(B) Landless rural labourers —  Higher support prices for their
crops
(C)  Prosperous farmers from —  Regular wages
Punjab
(D) An Adivasi from Narmada —  To fulfil livelihood
Valley

321413 T P.T..
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2. 1917 ¥ oNd % @l ot H S 3 T w1 SIRien R TR 2 @

FHROT AT | 1

3. UNd ¥ Jaldeh &Fh a1 HEqUl R & T 8 ? W SR T IR | 1
e

TR & T | Tfea geh i yg@ giaen i Tre Hf | 1

4. TR 1 I HIWC qAT A= ST T T4 1 I GT ¢
BRATOT, A 3TN 98N o & JoTcHS ihe

fraa sufeafa s
— Rggg @ ufd | seRar @ % | (Jd 100 Afh) AR
1,000 <R (2016) (2011) TR (MY 141 15
a¥) 2013 — 14
g 33 82 61
T 10 94 83
forgm 38 62 43
U9 :
fohe TS &1 TR TR W et ufedfa 1 314 a8 1 8 ? 1
5. Tk Tam 1 gfd HINT 1
1871 % ¢ gfea-gefl 30 # ¥R Tgardt a1 E & o |
6. Sl IrAmed) W AT H YA smgeR’ FefaRga wmwett # @ foheH foran
T o7 ? 1
A) I
(B) W
(C) 3l
(D) wafRet
7.  868%. W B IUM hl How G Teae e # & wiA-E off 2 1
(A)  Efee
(B) erWs ¥
(C) N
(D) ISR
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2. Why did Gandhiji organize Satyagraha in the Kheda district of Gujarat
in 1917 ? Give the main reason. 1
3. Why is the tertiary sector becoming so important in India ? Explain the
main reason. 1
OR
Explain the main advantage of organised sector in respect of
employment. 1
4, Study the table and answer the question given below :
Some Comparative Data on Haryana, Kerala and Bihar
Infant Mortality . Net Attendance Ratio
Literacy Rate % (per 100 persons)
State Rate per 1,000
live births (2016) (2011) Secondary stage (age 14
v and 15 years) 2013 — 14
Haryana 33 82 61
Kerala 10 94 83
Bihar 38 62 43
Question :
Which State has the lowest net attendance ratio at Secondary stage ? 1
5. Fill in the blank : 1
The most serious source of nationalist tension in South-eastern Europe
after 1871 was the area called
6. In early nineteenth century ‘Shamsul Akhbar’ was written in which one
of the following languages ? 1
(A)  Urdu
(B) Persian
(C)  Arbi
(D) Swahili
7. Which one of the following was the oldest Japanese book printed in
868 AD ? 1
(A) Bible
(B) Diamond Sutra
(C)  Kokoro
(D)  Kojiki

321413 | P.T.O.
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8. “Caste system is still prevalant in the Indian society.” Suggest any one
measure to abolish it. 1
OR
“Sometimes elections are all about caste in India.” How can this situation
be avoided ? 1
9. Which of the following is the majority group in Sri Lanka ? 1
(A) Tamils
(B)  Christians
(C)  Sinhalese
(D) Muslims
10. Why is power sharing desirable ? Explain one reason. 1
OR
Why is there a need to give space to diverse social groups in the
administration of a democratic country ? Give any one reason. 1
11. Under which of the following is power shared in the ‘Community
Government’ of Belgium ? 1
(A) Different social groups
(B)  Different organs of government
(C) Central and State government
(D) State government and Community government
12. Fill in the blank : 1
Coal and Petroleum are sources of energy.
13. Why were manuscripts not widely used in India before the age of print ? 1
14. Who was the author of ‘Hind Swaraj’ ? 1
OR
Who was the author of the novel ‘Anandmath’? 1
15. Choose the correctly matched pair from the following :
(A)  Kalol Oil-fields — Gujarat
(B) Bauxite Mines — Maharashtra
(C)  Chandrapur Thermal — Odisha

Power Plant
(D) Mayurbhanj Iron Ore Mines — Jharkhand

32, S PT0.
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16. U 3mfoges ot ga F=foilRga # o form T=a o feva 2 2 1
(A) HACh
(B) A
(C) dve g
(D) IR TW
17. 39 9gg-axH o1 9 foifau fSeent faem gras 9o % 9gd YR 8 b 9
% for fopam | 1
AT
39 G-I T AW fARaw feent foehtd Shicehrdl 9o o Sgd YR 8 §Ihi
A % faw fepan m | 1
18. 3 o1 & frfafea arfossr & fh omt o6t g Aife Z+2=1
FUTRIAT % YR T TETEH
T ITTET / TR
(A) covrerrerrererensonsorsorssssosssas M. ... TR QAT IS Jnal
2 R~ S . o Gl 3R Sfiarey dem
19. 9T H HWd SR Sl 3T | Fhg 1 g Th U AT | 1
20. fTmafafga o @ fopar 1871 ° S &1 v ToTe =ifya femam mm 2 1
(A fafcem wem
(B) faferm fgda

(C) el facey yem

(D) eig faeew wgd
e @

21. YA H % 3R TSAT & &= TT o gl sl fheal o fomiaaredt &1 auiH
sHifvT | 1x3=3
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16. In which of the following States is Narora Nuclear Power Plant located ? 1
(A) Karnataka
(B) Kerala
(C) Tamil Nadu
(D)  Uttar Pradesh

17. Name the sea-port that was developed to relieve growing pressure on the

Mumbai port. 1
OR
Name the sea-port that was developed to relieve growing pressure on the
Kolkata port. 1
18.  Fill in the blanks of the following table with suitable information : é+ é =1
Resource on the basis of exhaustibility
Resource Examples/Type
(A) e Solar and Wind energy
(B) e A B Mineral and Fossil fuels

19. Suggest any one way to increase the income of the marginal farmers in
India. 1

20. Who among the following was proclaimed as the first German Emperor in
18717 1

(A) William I

(B) William II

(C)  Friedrich Wilhelm I
(D)  Friedrich Wilhelm IV

SECTION B

21. Describe any three characteristics of distribution of power between the
Centre and States in India. 1x3=3

321413 e P.T.O.
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22. Describe the ways of discrimination faced by women in India. 3
OR
Describe the changes in castes and caste system in modern India. 3
23. “There is need for protection and support for the workers in the
unorganised sector.” Evaluate this statement. 3
OR
“Activities in the private sector are guided by the main motive to earn
profit.” Evaluate this statement. 3
24, “Railways in India bind the economic life of the country as well as
accelerate the development of the industry and agriculture.” Support the
statement with examples. 3
25. Explain the three types of movement or flows identified by the
international economists in the nineteenth century. 1x3=3
OR
Why did textile exports from India not decline in the late eighteenth
century ? Explain. 3

26. Read the extract given below and answer the questions that follows : 1+1+1=3

Source - Swaraj in the Plantations

Workers too had their own understanding of Mahatma Gandhi and the
notion of Swaraj. For plantation workers in Assam, freedom meant the
right to move freely in and out of the confined space in which they were
enclosed, and it meant retaining a link with the village from which they
had come. Under the Inland Emigration Act of 1859, plantation workers
were not permitted to leave the tea gardens without permission, and in
fact they were rarely given such permission. When they heard of the
Non-Cooperation Movement, thousands of workers defied the authorities,
left the plantations and headed home. They believed that Gandhi Raj was
coming and everyone would be given land in their own villages. They,
however, never reached their destination. Stranded on the way by a
railway and steamer strike, they were caught by the police and brutally
beaten up.

321413 T P.T..
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(26.1) 38| % I AFGU o Y T’ 1 TGgRON i w5 HIT |

(26.2) T FSQU I AATAE § a1 o €9 § 1859 & oS IHIRH U
! T HINT |
(26.3) HVGU  HSAN IMaleH H 30T o o Y@ IR i s HifT |

27.  3irENfies YgUU fohE TehR YATeRUl i &ffd UgTdl & ? $Eeh! Ushd o Toheal

U Sl TS I | 1+2=3
28. YA H UIYHAT o ATHETd Sl sh! HgdT 1 Ju9 il | 3
YT
A4 Sitad o fIq TETeaT shl STa9aehdl sl U <hifou | 3
@ uE T
29. “TIhdifeh STGEAT TSHITdeh FHMAT G TG Bl & | 3¢reul dfed 39
HIA i gfte KT | 5
30. R fefearen 3 UFR # Hf¥ % ArrgH 1 faversor Hife | 5
31. WNd § SAARS WAhdd hl HHAT Hl G HH o fohral qrd T HI dUME
Eﬁﬁl‘ll Ix5=5
32. ‘T WEEdl wqg U &1 % el Sl GfSd i H Heg d 7 |7 3Sren
afgd s i gfte Hiflve | 5
YT
“HeT 1 ST gAR Qe STTad o1 95d 81 58 @ |7 3TN Higd e
gfte =hIfT | 5
33. U1 i gl TG 8 foh 1830 T TH JUT H WRI HiSATSAT <okt ITRAT 2 HRON
T HIT | 5
HU>AT

AIHTSIATG & ISt TTATE ohd TR T fovd g o1 R0 a41 280 i | 5
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(26.1) Explain the understanding of ‘Swaraj’ for plantation workers in
Assam.
(26.2) Explain the Inland Emigration Act of 1859 as a barrier to
freedom of plantation workers.
(26.3) Explain the main outcome of the participation of workers in
the Non-Cooperation Movement.
27. How does industrial pollution harm the environment ? Explain any three
measures to minimise industrial pollution. 1+2=3
28. Describe the importance of an equitable distribution of resources in the
society. 3
OR
Describe the need of resources for human survival. 3
SECTION C
29. “Democracy is based on political equality.” Support the statement with
examples. 5
30. Analyse the contribution of agriculture in the Indian economy and
employment. 5
31. Describe any five measures to eradicate shortcomings of inner democracy
in India. Ix5=5
32. “Self Help Groups (SHGs) are the building blocks of organisation of the
rural poor.” Support the statement with examples. 5
OR
“The use of money spans a very large part of our everyday life.” Support
the statement with examples. 5
33. Why is it said that the 1830s were the years of great hardship in
Europe ? Explain. 5
OR
How did nationalism aligned with imperialism become the cause of the
First World War ? Explain. 5

321413 e P.T..



https://byjus.com/?utm_source=pdf-click
https://byjus.com/?utm_source=pdf-click

The Learning App

321413 ErEer

ffeiiad |l il 9fey 3T 37 = U 7 st % I AN

|d A - foesit SaTar 3R STeTRi 1 TehiehToT

TR % G § TGl 1 Th IR § G TR H ST 81 8 | TR §
T3t & foehed oG I 8 | € SR | Ueh & 9%] T od UhAHH B Rl
3 | 39 G <0 % IcUTGHh Th-GEX H TN HIA g Bkl ot Ush-gEt § Wiawadi
F TR 8 | 30 TR, et smm fafie 3o 6 SRt 6 Sied a1 wehie #
HEh Al B |

Hid B - Sgateu

g, Hareti, faw 3K senfieht o fafe faftm <o &1 oo & Sed &
Teh 3 HIEIH 81 Gehdl @ | I8 HILIH 7 iy 23 o <9 A &1 STemme |
TR AT 9E 3T, S USHR U9 fem i qam § T oW 8 g oW
AT Hid B | T, ToTd 5o qenl # ok Wfdedi o SR fofv= <ot
<t il o srremTe # sfees afy TE gs @ |

|ra C - fava =R &req
Tey forva AR weA Tt wl i ek SAIR o glown a1 8, W Hewr §
g <@l T 7 b foefaa <ot 3 STgfd @ | IR SAaUgehi ol SRR Tl
3 | gE0 3R, fore AR &ed & Fami 3 foemmeeiia ouN o SR /&gl &
M % U fgaw fovem B | 81 U 3o Y IAE % SR T FdHH
B |
(34.1) G A - faresft SaTIR 3R START 1 TehTeRToT

fereeft SR TSR o A Tehishd A B 2
(34.2) @A B - AyiHTUT

JvefieRtor K8 &A1 T HETEIdl § O ity w1 foeam ot @ g ?
(34.3) @@ C - fava SR wreA

“foa SR @A % HEl AR it 4 woeg w859 1 S e
g 1”7 %o W 3 fomm wee i |



https://byjus.com/?utm_source=pdf-click
https://byjus.com/?utm_source=pdf-click

R RRRAAAANNNMRRRRRRSDSISSS——————————E
BEWUS

EHE
]

()]

34. Read the following sources and answer the questions that follows :

Source A - Foreign Trade and the Integration of Markets

With the opening of trade, goods travel from one market to another.
Choice of goods in the markets rises. Prices of similar goods in the two
markets tend to become equal. And, producers in the two countries now
closely compete against each other even though they are separated by
thousands of miles. Foreign trade thus results in connecting the markets

or integration of markets in different countries.

Source B - Globalisation

Besides the movements of goods, services, investments and technology,
there is one more way in which the countries can be connected. This is
through the movement of people between countries. People usually move
from one country to another in search of better income, better jobs or
better education. In the past few decades, however, there has not been
much increase in the movement of people between countries due to

various restrictions.

Source C - World Trade Organisation

Though WTO is supposed to allow free trade for all, in practice, it is seen
that the developed countries have unfairly retained trade barriers. On
the other hand, WTO rules have forced the developing countries to
remove trade barriers. An example of this is the current debate on trade

in agricultural products.

(34.1) Source A - Foreign Trade and the Integration of Markets

How does foreign trade integrate markets ?
(34.2) Source B - Globalisation

How is globalisation expanding human activity across regions
and continents ?

(34.3) Source C - World Trade Organisation

“The actions and methods of the WTO have evoked strong
debate.” Elucidate your views on the statement.

321413 e P.T..
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(iv) HeH — WIEl 6 g1 H
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FiZ:  FAHElET 397 Fac giEaEa gl & 77 37 8T 35 % T W/

g1
(35.1)
(35.2)
(35.3)
(35.4)
(35.5)
(35.6)
(35.7)
(35.8)
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SECTION D

35. (a) Two places ‘A’ and ‘B’ are marked on the given political outline
map of India (on page 19). Identify these places with the help of
the following information and write their correct names on the
lines marked near them : 1x2=2

(A) The place where Gandhiji violated the salt law.

(B) The place where the Indian National Congress Session was

held.
(b)  Locate and label any four of the following with appropriate symbols
on the same given political outline map of India : Ix4=4

(1) Hirakud — Dam

(i1)) Kanpur — Coton Textile Industrial Centre
(iii) Kandla — Sea-port

(iv) Salem — Iron and Steel Plant

(v) Amritsar (Raja Sansi) — International Airport
(vi) Hyderabad — Software Technology Park

Note: The following questions are for the Visually Impaired Candidates
only, in lieu of @. No. 35. Attempt any six questions :

(35.1) Write the name of place where Gandhiji violated the salt law.

(35.2) Name the place of Gujarat where the peasants started
‘Satyagraha’.

(35.3) Name the State where Hirakud Dam is located.

(35.4) Name the State where Mayurbhanj Iron Ore Mines are located.
(35.5) Name the related State to Mumbai High Oil-field.

(35.6) Name the State where Salem Iron and Steel Plant is located.
(35.7) Name the State where Raja Sansi Airport is located.

(35.8) Name the place in Punjab where a Software Technology Park is
located. 1x6=6
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